


® Problems associated with

e World and Indian population high population

e Reasons of high population e Population stabilisation
in India policy




Growth of World Population

modern humans appeared
Africa, 2,00,000 years ago
dwelled planet
continuously growing
population.
like pandemics, famine, wars,

invasions



7.8 billion




Population of India

population independence (1947)
increased 1 billion
Currently, 1.38 billion.

every sixth person Indian.
Population outburst:






Population=n Population=n + 2 Population =n

Parents Babies Babies grown
GED[T




Population of India

fertility rate of India Indian woman
around 6 children
fertility rate  more than 6, not sustainable fertility rate.



High mortality and

_ Child marriage
lower life span

Preference for

llliteracy male kids

Aversion from Non availability of
family planning contraceptives



Reasons for High Population in India B

4

High mortality and
lower life span

(Maternal mortality rate) - Number of
maternal deaths per 100,000 live births.

(Infant mortality rate)- Number of
infant deaths per 1,000 live births.

c 7
©
26
Q ¢ health care facilities in India
O q were poor.
(@)
o
0 more kids is
< helpful.
poor healthcare very less kids
survive.

1901 1911 1921 1931 1941




Reasons for High Population in India B

Child marriage @ llliteracy @

unaware
disadvantages more children

Child marriage

1950s.
getting married
early age
give birth

many Kkids.




Preference for .
male kids Ave.r5|on frqm
family planning




Non availability of
contraceptives




number of deaths per 1,000 live births

number of maternal deaths per 100,000 live births

number of infants deaths per 100,000 live births

number of maternal deaths per 1,000 live births



(‘) number of deaths per 1,000 live births
(‘) number of maternal deaths per 100,000 live births
(’) number of infants deaths per 100,000 live births

) mber of matrnlcest per 1000 webitrs



Shortage of funds

® Over consumption

Ecological imbalance




Problems due to ngh Population

Shortage of funds

(C  scacty

basic
requirements food, shelter,

clothing, etc. shortage  funds

provided government

scarcity  basic
requirements



Problems due to High Population

< Over consumption ( Ecological imbalance

increased demand Overconsumption
resources depletion
overconsumption resources,

disrupts natural balance
ecosystem.






Population Stabilisation Policies

‘Hum do hamare do’
(we two and our two).




Reproductive and Child Healthcare Program 8

Objectives
total fertility rate, infant mortality rate maternal mortality rate
overall well being
unwanted pregnancies sexually transmitted

diseases.



Reproductive Health

is the physical, emotional, behavioural and social

well-being in all the aspects of reproductive system and its function.




Outcomes of Stabilisation Policies B

got access good health care
pregnancy, delivery, STDs,
abortions, menstrual cycle, infertility, etc.
reduced overall IMR and MMR
average life span increased
few kids chances are more.



Outcomes of Stabilisation Policies B

female 18
years males  21years.

prevented couples more children



Outcomes of Stabilisation Policies B

literacy rate increased
1950s

awareness about
overpopulation
educated about the
negatives more
children



Outcomes of Stabilisation Policies B

Introduction of sex education in schools

Sex education discourage

misconceptions about sex-related
aspects.
reduced chances getting

STls



Outcomes of Stabilisation Policies

fertile couple

birth control

@)

Reproductive organs

pregnant mothers o Adolescence

postnatal care o Safe and hygienic

breastfeeding o Sexually transmitted diseases






Outcomes of Stabilisation Policies B

family planning methods.
Saheli —

Central Drug Research Institute

(CDRI)



Outcomes of Stabilisation Policies B

Cheap wide availability = contraceptives:
Contraceptives medical shops health centers:

Free distribution  contraceptives:



GD hormonal oral contraceptive
(I;D non-hormonal oral contraceptive
CD hormonal implant

GD none of the above



Saheli is the first

(‘) hormonal oral contraceptive
(’) hormonal implant
(‘) none of the above



Result of Stabilisation Policies B

stabilisation policies reduction number  family members
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7.8 billion




High mortality and

, Child marriage
lower life span

Preference for

Illiteracy male kids

Aversion from Non-availability of
family planning contraceptives



Shortage of funds

Ecological imbalance Over consumption




Reproductive and Child Healthcare Program (RCH) was launched in 1997.



Access to good health care

Increase in marriageable age:
Females — 18 years; males — 21 years

Awareness: Introduction of sex education in schools

Statutory ban on fetal sex determination methods

Emergence of newer, better and easy-to-use family planning
methods

Cheap and wide availability of contraceptives






e Contraception e Contraceptive methods

o Checkpoints for o Natural contraceptive
contraception methods

o ldeal contraceptive o Barrier methods




Ovulation

Mature follicle Early corpus Regressing
luteum

Developing follicle corpus luteum Corpus

albicans

LH

FSH —

Estrogen —

Progesterone f

I

Menstruation Follicular phase Ovulation Luteal phase



Contraception

Contra

Conception

N 4

Becoming
pregnant




Checkpoints for contraception

Release of gametes Fertilisation Implantation

Ovulation Release of sperms



\

User
friendly

Easily
available >

|deal

Contraceptive

—r— -,

Shouldn’t

\
\

interfere with '

sexual act

4

4

/

/

~.

~

N\

Shouldn’t

< interfere with

sexual drive ;

Reversible;

\

No/least side :

effects

/

|
)






Contraceptive Methods

Temporary



Contraceptive Methods- Natural Methods B

— —

Coitus interruptus Lactational amenorrhea
(Withdrawal method) (Absence of menstruation)




Periodic abstinence

Rhythm method




Periodic Abstinence

day 10-17

MENSTRUAL CALENDAR

1111 erie

——




Periodic Abstinence

no ovum
conception.

no



Periodic Abstinence B

cannot
be predicted,

Actual time
of ovulation cannot
be predicted



Natural Methods

G )

Lactational amenorrhea
(Absence of menstruation)



Coitus interruptus

Withdrawal method




Coitus Interruptus

withdraws penis before
ejaculation.
Some Avoids insemination
sperms

enter vagina
before ejaculation






Lactational amenorrhea

(Absence of menstruation)

1 \
! 1
! 1

1




Lactational Amenorrhea B

absence of
menstrual cycle.
P temporary period of infertility
post-parturition

= No hypothalamus

GnRH
reduced
i , LH FSH
- - reduced
absence of ovulation menstrual

cycle (amenorrhea).



Lactational Amenorrhea B

no ovum
no conception

Effective
only upto
6 months
from parturition

drawback

Six months
following parturition.









Barrier Methods



Contraceptive Methods

Diaphragms, cervical caps
and vaults



n
S
o
g
c
o
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______________________________________

penis

Condoms

______________________________________

vagina
cervix

’
e e — -

S

thin

rubber/latex

fertilisation



Did you know?

________________________________________________

________________________________________________






Did you know?
itching, redness, swelling

latex allergy

4.3%



Advantages of Condoms

N
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Diaphragms, cervical caps and vaults




Cervical cap

Diaphragm

Vault cap




Spermicide vs Sperm

s

Spermicide is a contraceptive substance that immobilises or kills sperm before
they enter the uterus.

It kills most of the sperms that enter the vagina.

The barrier method then blocks any remaining sperm from passing through the
cervix.



Efficiency of Diaphragm, Cervical Cap and Vault Cap |8

e



CA) Protection from STDs
63) Prevention of conception
CZ) Can be self-inserted
6)) All of the above



@ Protection from STDs
63) Prevention of conception
CZ) Can be self-inserted

(o) Atoftmesbove



Contraceptive methods

Periodic abstinence Condoms
(Rhythm method)

(Withdrawal method)
Diaphragms, cervical
caps and vaults

Lactational amenorrhea
(Absence of
menstruation)







e Chemical contraceptives ® Intrauterine devices

Hormonal chemical

contraceptives
Non-hormonal chemical
contraceptives

e Failure of contraceptives e Emergency contraceptives







Sertoli cells
Produce sperms
k 1
Leydig cells

|\ J




Contraceptive methods



Chemical Contraceptives

chemical constituents



Hormonal Non-hormonal

Steroidal Non-steroidal

Estrogen Progesterone Testosterone



Hormonal Chemical Contraceptives 0

What is it? How does it work?

o0 Progestogen



uuuuuu






Hormonal Chemical Contraceptives B

How does it work?

Fallopian Uterus
tube

Endometrium

Cervix




Hormonal chemical
contraceptive methods
: . Skin : :



Hormonal Chemical Contraceptives B

What is it?




Hormonal Chemical Contraceptives-Pills

S MTWT F S S M TWTF S
X K X X X X X X X X X KX X K
2
Efficiency Efficiency

Gll——e) 0



Hormonal Chemical Contraceptives B

What is it?

progestogens-estrogen

How to use?

Efficiency

()



Hormonal Chemical Contraceptives B

What is it?

etonogestrel

How to use?

provides conception for 2-3
years

Efficiency
. ()]

4 )

Subdermal implant

Implant is placed
underneath skin of
arm




Hormonal Chemical Contraceptives B

What is it?

transdermal patch
estrogen - progestogen combination

How to use? Efficiency

.... »




Hormonal Chemical Contraceptives

Whatis it?

-

~




Hormonal Chemical Contraceptives D)

How to use? f \

Uterus

ring is squeezed inserted in the vagina.

S Vaginal ring
Vagina

Efficiency \ j

Gl







Chemical

contraceptives




Non- Hormonal Chemical Contraceptives B

What is it?

first only oral non-steroidal
contraceptive pill






Initial 3 months




Non-Hormonal Contraceptives

What is it?

How does it work ? Drawbacks

No protection against STDs

should be reapplied after
three hours



Non-Hormonal Contraceptives

How to use?

Efficiency
G o

Efficiency
()



GD Skin patch
GD Rod implant
(C.D Saheli
@D Vaginal rings



Which of the following is non - hormonal contraceptive? m

(‘) Skin patch
(‘) Rod implant

9 s



Chemical Contraceptives

What is it?

Dimethandrolone
undecanoate (DMAU)

How does it work?



—
X

Testes No Testosterone
mﬂ ( Sertoli cells A
No sperm

. production Y

Leydig cells










Female Reproductive System

Drug has to interrupt ovulation
of single egg in a month

Drug has window of ovulation
period to act and prevent
contraception

Male Reproductive System

Comparatively difficult to
interrupt production of 1500
sperms per second

No such window for targeted
regulation in sperm formation



What is it?

progestin
testosterone

How does it work?

* Progestin switches off
sperm production

Male Contraceptive Gel

How to use?

Drawback:




FSH

Sertoli cells
L produce sperm

Leydig cells




Contraceptive methods




Intra Uterine Devices or IUDs




Non-medicated Copper Hormonal

IlUDs releasing IUDs lUDs




Non-medicated IUDs - Lippes Loop B

What is it? Drawbacks

How does it work?

Efficiency

provokes an increase in the immune cells

. L (
in the uterus »

How to use?



Cu Releasing IUDs - CuT, Cu/ & Multiload 375 9

What is it?

How does it work?

Multiload 375

Drawbacks

How to use?

Efficiency
()



Hormonal IUDs - Progestasert, LNG-20 B

What is it? Efficiency

o)

How does it work?

Hormone
reservoir

Hormone

inhibits ovulation. :
reservolr







Hormonal IUDs - LNG-20

How does it work?

levonorgestrel

How to use?

Efficiency
Gl



Hormonal [lUDs - LNG-20

Drawbacks

Reservoir with
Levonorgestrel




GD LNG - 20
GD Multiload 375
(C.D Lippes loop
O



Which of the following is a hormone releasing |IUD?

o wem

@ Lippes loop
@ cu?



Failure of Contraception

Failure of Contraception = Risk of Pregnancy



Emergency Contraceptive Methods B

after



Emergency Contraceptive Pills

What is it? How does it work?

Levonorgestrel
levonorgestrel



Emergency Contraceptive Pills

How to use? Drawbacks
72 hours
unprotected sex
rape
Efficiency



Did You Know? B

How does it work?

How to use?




Summary
















e Surgical contraceptives e Medical termination of
pregnancy (MTP)

o Vasectomy
o Tubectomy o Misuse of MTP

e Birth defects ° Generalov.erview of
contraceptives




Types of Contraceptive Methods O

five types
_ contraceptive methods
Contraceptive .
terminal
methods

methods

Surgical



Urinary Bladder

Vasectomy \ Serina vesie

Ejaculatory duct

Prostate gland

Done in
males
Surgical
contraceptives
Ovaries
Tubectomy )

terus
Done in Vagina

females




Vasectomy

Vas ectomy

male sterilisation

sperms

ejaculate









Vasectomy

Efficiency

I —— _

Drawbacks



Sperm & o Other secretions from o

seminal vesicles
prostate gland

secretions seminal
vesicles prostate gland

bulbourethral glands.
bulbourethral glands

° eliminates only
sperm

% L Other secretions from

bulbourethral glands
prostate gland













Tubectomy

Efficiency

— )

Drawbacks






Medical Termination of Pregnancy O



Medical Termination of Pregnancy =

voluntary termination induced
abortion.
legalized in India in 1971 strict restrictions
to prevent misuse

social, emotional,
moral and religious issues
45 to 50 million MTPs are performed in a year

1/5th of the total number of conceived pregnancies



Medical termination of pregnancy can

be done using

Surgical Oral
methods methods



° relatively safe

first trimester 12
] e
e Second trimester
_ riskier






Female Foeticide

selective abortion

illegal practice

strict laws against penalties




Male favored for
successful lineage

o Girls are not safe

Lack of education




GD inhibit hormone production
(I;D prevent gamete transport
CD inhibit gamete production
GD none of the above



(‘) inhibit hormone production
o) revent samte wosport
(’) inhibit gamete production
(‘) none of the above






Sex Ratio

females per
1000 males in a population.
o
° X number of females
sex ratio
will be x:1000
(i.e., 1:1).
° indication relative

survival of females and males



/

\_

~

cleft lip

Birth Defects

parents of the kid were aware
i.e., birth defects before giving birth.

/

\_

~

congenital anomalies

J

anencephaly

spina bifida



Birth Defects

.

~

/

Down syndrome

-~

/

clubbed foot



Recalll Gastrulation B

]

Amniotic cavity

Epiblast

Hypoblast gastrula
]

amniotic
fluid




Placenta

Umbilical
cord

Amniotic
sac
Amniotic
fluid

Growing
fetus




Weeks of pregnancy







Mother of age more than 35 years Abnormality found by ultrasound

Previous history of pregnancy with
genetic abnormality in the child

Family history of genetic disease




@D
@Q
GD



Sex ratio is number of females per males. Ideal sex m
ratio is?

(o E—



Overall View of Contraception O

« curbing population growth

« birth control options



Pre Marital

i
Barrier Chemical Married (Do not want children)

SN

i ]

Barrier

Chemical

Married (Want children)

Track Cycle

Married (After deciding not to
have children anymore)

0o




Contraceptive
methods




Birth Defects

Birth defects
mother’s body




Induced abortion.
Allowed only in some

conditions
Legalized by
government in 1971




Amniocentesis

Down syndrome, spina bifida, etc. sex of the child






Sexually transmitted infections Myths regarding STDs
Complications of STDs Prevention of STDs




Sexually Transmitted Infections B

Syphilis Hepatitis B AIDS
Genital Herpes Chlamydiasis Genital Warts



Causative organism

Type

Transmission






Causative organism

Lt T~ - =<

Type



Transmission



Causative organism

Type



Transmission
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Antibiotics Vs Antivirals

————————————————————————————

kill bacteria prevent
growing, multiplying causing diseases

___________________________________________________________________________________

___________________________________________________________________________________

_________________________

_________________________

minimize symptoms infectivity
viruses '



Causative organism Type

-~
~
-
~

Transmission
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Causative organism Type

Transmission




Recall! Jaundice

skin sclera
mucous membranes turn yellow

high level  bilirubin

breakdown red blood cells bile,



Hepatitis B

=  Short term disease = Long term disease
=  Cured by plenty of rest = Antiviral drugs are used
and fluid diet to control viral spread

» Treatable = Untreatable



Causative organism Type

Transmission

- -, - -,



n
&
O
+—
o
&
>
wn




Causative organism

Symptoms

Type

Transmission



/

P

C o~

N

Causative organism

Type

Transmission



Did You Know?

very low
proper treatment availability of antiretroviral drugs
life expectancy has increased
improvement quality of lives

Life expectancy, 1950 to 2015 :IZ Japan

South Korea

80 years e o L United Kingdom

, _ > World
70 yearss T Tt T

—> Ethiopia

60 years South Africa

50 years

40 years ',




Human Immunodeficiency
Virus (HIV) spreads
through hugging

HIV does not spread through hugging. It
spreads only through exchange of body fluids

HIV spreads through HIV does not spread through eating together. It
eating together spreads only through exchange of body fluids
HIV spreads through HIV does not spread through handshake. It
handshake spreads only through exchange of body fluids
HIV spreads through HIV does not spread through kissing. It spreads

kissing only through exchange of body fluids



Column 1

Column 2

o
@

m Treponema pallidum

WA Neisseria gonorrhoeae



Match the following sexually transmitted diseases
(Column 1) with their causative agent (Column 2)

and select the correct option.

B cenvatvens

B veissera gorernosce




Social Stigma

Negative attitude towards sex Myths regarding STDs

multiple sexual partners not wrong
STDs can spread through
Blood transfusion Infected needles Mother to baby during delivery

Consequences of social stigmas associated with STDs

avoid getting tested
depression aggravation of disease



Complications of STDs B

L X4 syphilis
)02* Inflammation ) . yp

cause stillbirths
X death of
baby after 20-28 weeks

Y/

% Lower abdomen area
pelvic region

7

”e abortion

\/
0’0

develop outside

( ) % Fertilised egg

uterus.
% This causes pelvic pain
inflammation

three times higher
HIV positive women



Complications of STDs

men  women



Prevention of STDs

«» Unprotected sex
) unknown partners

X physical barrier
between male
female sex
CONDOMS % Condoms prevent
STDs

Early detection

life-threatening

blade

cure
detection

patient
STDs

use fresh needle

Dispose off

fresh



Summary

Sexually transmitted disease Causative agent



Negative attitude
towards sex

Discrimination due
to myths

Isolation

Avoid getting tested

Summary

Stillbirths
Infertility
Abortion

Pelvic inflammatory
disease

Ectopic pregnancies

Cancer

Avoid unprotected sex

Use condoms during
sex

Consult with a doctor

Use fresh injection
ever time






e Infertility e Unconventional

o Reasons for infertility parenthood
o Adoption

e Assisted reproductive technologies (ART)
o In vitro fertilization

o In vivo fertilization
o Drawbacks of ART




A
‘—‘ 4th day
8 blastomeres
B

5% day
16 blastomeres

morula



o

J blastocyst

8-9 days

k implanted






Assisted Reproductive Technologies

They are a set of medical procedures
aimed at treating infertility.

Specialised health care units (infertility clinics, etc.) help in diagnosis and
corrective treatment of some of these disorders and enable infertile
couples to have children.

However, where such corrections are not possible, the couples can be
assisted to have children through certain special techniques commonly
known as Assisted Reproductive Technologies (ART).




In vitro fertilisation

In vivo fertilisation



Steps of In Vitro Fertilisation (IVF)

00%

@,

Baseline blood test Superovulation

Consultation and ultrasound

Gamete
‘ .
& . retrieval
Fertilisation
Embryo
//
transfer KA
AR T A AL %
e Pregnancy

Two-week monitoring test

Oocyte
maturation



Ovary

Normal ovulation

Superovulation




Test Tube Baby Programme R

A
/

Extraction of ova A

transvaginal oocyte retrieval.

needle guided by sonogram




Test Tube Baby Programme

Extraction of sperm

-

\ | » . |
\
\

>

A

Ejaculation collection condom

Surgical method



Test Tube Baby Programme 2]

@

test-tube/petri-dish

Natural fertilisation in vitro




Test Tube Baby Programme 2]

Intracytoplasmic sperm injection (artificial method) e

directly injected into the ovum




Test Tube Baby Programme

Zygote Intrafallopian Transfer (ZIFT)

- ®
T

zygote

invasive

8 blastomeres
fallopian tubes

32-36% chance of
success.



Test Tube Baby Programme

Intra Uterine transfer (IUT)

embryo is transferred
directly to the uterus

32-46% chance of
success.

blockage in the fallopian tubes









It is an arrangement, often supported by a legal agreement,

wherein a woman (the surrogate mother) agrees to bear a child for
a couple.




In Vivo Fertilisation

within
artificial

Donor Sources



In Vivo Fertilisation B

unable inability of the male too
to produce an egg partner acidic

not alkaline
very low sperm

uterus
vagina






Requires extremely high
precision handling

Can be done only by Emotional, religious and
specialized professionals social factors

Very few centers




It is a legal process which fully transfers
parental responsibility from a child's biological

parents to the adoptive parents.
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In vitro
fertilization (IVF)

ICSI

Superovulation

Gamete

retrieval

Fertilisation

Embryo transfer

In vivo

fertilization GIFT

[UI

Al

ZIFT




